Text: Umlaute & fonts: rm: Aqiidtoer00, 123-45+6.0%8, sf: Aqﬂétog.rOO, 123-45+6.0%§, tt: AqiiéitoerOQ_, 123-45+6.0%8§,
cal: Aqiiditoer00, 123-45+6.0%8, scr: Aqiifitoer00, 123-45+6.0%8, bb: Aqiifitoer00, 123-45+6.0%8, frak: Aqiifitoer00, 123-
4546.0%8,

text: Umlaute:AiAaA4AaAGAASAaAZEeCeEeeLIO6000606060¢ExSs8UiUNTGUGUT

math: Umlaute and fonts base: A'qiit@.toerQO, 123 — 45 + 6.0%8, rm: Aqﬁéitoel_f'OO, 123 — 45 + 6.0%8, sf: Aqi]'étoerQO, 123 — 45 4 6.0%8,
tt: Aqiidteer00, 123 — 45 + 6.0%8, cal: ALMHUeV/, 00> — Ay + /%8, scr: Agiidtoer00, 123 — 45 4 6.0%8, bb: AnSomce b, WEKE — E 4 + AFY
frak: Aqiidtoeroo, 123 — 45 + 6.0%8

std dev:

std dev 2:

rotation matrix:

cos(a) +n2 - (1 — cos(a)) Ng - Ny - (1 — cos(a)) —ny - sin(a) ng - n, - (1 —cos(a)) + ny - sin(a)
M(a) = | ng - ny - (1 — cos(a)) + n, - sin(a) cos(a) + ”z2/ (1 —cos(e)) ny - ny - (1 —cos(ar)) — ng - sin(a)
Ny - Ny - (1 —cos(a)) —ny -sin(a) n,-ny - (1 —cos(a)) + ng - sin(a) cos(a) +n? - (1 — cos(a))

like in label at bottom (no MM):

(:\/27r-/_2f(x) dx_)
(:\/QW./_‘:M dx_)

like in label at bottom (MM):




e decoration:
TR — —i Xy — —i X — —XG — —aXep — 3K — ~i X9 — —zXy — —TXG — —2XP -~ XY

e mathtest: 1
2 - —
This is normal text: thisismath : (r3(r)) = ((F(t) — 7t + 7))2)  g(r) = % - (1 n gmﬂ) MO L@ als > 2) 7R

zy
= ——
A SR 12y 41 2. aa

\/ 2ottt arg ming Z%—o 501 (((2))) H} . ;] underbraced text A - - 7\’2%2;2WJT ‘w/x . Y’ xNoZ
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V=T

<aﬁ R(t+7)) aprsraen | [Viw| |
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e chi2 test:
N A~
P = argmax x? = argmaxz fi= flwip)
5 oS o

e upper/lower parantheses test:

1 1 !
bblabla_ - (ex +ex> ' (éii) N exp [—\%} FexXP [_%]

o ACF test: 1 1
o L (1 220N () 26
o= (sg) ()
e MSD test: K
MSD() = (s} = {(7(0) = 7lt-+ 7)) = 2 s or®

¢ math: blackboard:
ABCDEFGHIJKLMNOPQRSTUVWXY ZW#F



math: bf:

math: rm:

math: cal:

subscript test:

subscriptO test:

subscriptl test:

subscript2 test:

subscript3 test:

superscript test:

superscript0 test:

superscriptl test:

ABCDEFGHIJKLMNOPQRSTUVWXYZ120

ABCDEFGHIJKLMNOPQRSTUVWXYZ120

ABCDEFGHITKLMN OPQRSTUVIWXY Zooe!
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superscript2 test:

superscript3 test:

asuperscript test:

asuperscriptO test:

gsuperscriptl test:

gsuperscript2 test:

gsuperscript3 test:

frac test:

tfrac test:

dfrac test:
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stackrel test:

a2

a? 1
bt a— b2 b2

brace5 test: ()

() = = ("))

brace6 test: [ ]

[L10] = = [00]

brace7 test:

{1 == {0

brace8 test: — ———
[XTN 11 1 et 11

brace9 test: — —
[ ] = =[]

bracelO test

{{e™)]} = ={1-")]}

bracell test: floor

L™ = = L)

bracel2 test: ceil

[T = = [

sub-, superscript test

1234,.1234 1234,.1234 2 2
7321 321 — — 7321 T321 — —K — —K2— —Kp
super-, subscript test
123 123 123 123 2 2
7432174321 — — 7432174321 — =R — —K2 — —Kp



math 1:

math 2:

math 3:

math 4:

math 4:

math 4:

math 4:

Mal1l+ 1+\/1+\/1+\/1+\/1+$

3 3 3
Ma|1+ 1+\/1+€/1+{’/1+€/1+x

MV1I+XV14+ X214+ X




math 4:

math 4:

math 5:

math 6:

math 7:

math 8:

math 9:

math 10 (overbrace):

math 11 (underbrace):

——
T+ x4+ ..+ xk times

T+ x+ ...+ xk times
—_———



math 12 (under/overbrace):

math 13:

math 14:

math 15:

math 16:

math 17:

math 18:

math 19 (overset):

— N — ——
r+x+...+axktimesx +x + ... + x k times 2k times

"

3/1, Yo

1/3 if0<z<1
flz)=42/3 if3<x<4

0 elsewhere

0+
2

0+v\2 /1. |B\*

(2 ) +<21°g AD
iif: m2n
mzln:13m(m3”+n3m)

o) — — /Ooo sin(ﬁR)a[RQQDn(R)] .

nmw
Rz =

kR OR OR

o0

(al) (Cl ) z
pFylar, ... apic1, ... cq2) :ZM*

2 (e (g 1!

flz+ Ax) — f(x)

Az =5 0f
20 I 602, 0 (a)

= = —
XdefY X!'Y XfY




math 20 (underset):

flot Ae) = f@)

Ax —

Xdef (5)Y X [fY
= —

axiom of power test:
VAIPVB[B € P < VYC(C € B= C € A)]

De Morgan’s law: =(P A Q) <= (=P)V (=Q) or (;c; Ai = U;e; Aior AUB=ANB

quadratic formula:

_ —bE VIV —dac
T 2a
combination:
n\ nn-1)..(n—k+1) n!
<k>_ k(k—1)...1 ~kl(n—k)!

Sophomore’s dream 1:

1 )
/ z ¥ dr = E n_n(:1.29128599706266354040728259059560054149861936827...)
0

n=1

Sophomore’s dream 2:

1 00 00
/ x¥dx = E (—1)"Flp=n = — E (—n) ™" (=0.78343051071213440705926438652697546940768199014...)
0
n=1 n=1

divergence 1:

divF=V.F=—"2 4+ 42"
81‘ 8:[/ 82
divergence 2:
Oez O€yz e
— aéx + 88?/ T aa%
div (Q = % + gzu + gzy

Oex 6€yz Oe,
o Ty T o5




lim, sum ...:
i s = (1) +§ > {fszbn}
n=1

Schwinger-Dyson:

(O |T{FS } ) = (¢ |T{iF;iD" — FSin i D} 1) .

Schrédinger’s equation:

_—2m8x2+v] \I/( )—’Lhaat\lf( )

(L) = (2) (£)

[h2 ok

Cauchy-Schwarz inequality:

Maxwell’s equations:

c Ot c
V'I:j:47rp
. 1B -
E+-—=0
VX +08t
V-B=0
math: radicals:
Haq/aV5v/=1VhA/j \F\/> I a+ Va+b

math: non-2 radicals:

Va+Va+b

qu%%\g/—il%ﬁ\g/z% 3

1 1
1
1+E 3/1_’_%

10



e math: long non-2 radicals:

qu 3.1415% 341415\6/5
e math: sum, prod, ...: no-limits:
n C
1
H ). =
W [[364 )
=1 j=1
—  limits: W e
1
H ). =
ra[[36+ 7))
1=1j5=1
— long-below:
>, f@
n:{a7b’c’d’e7f7g}
— long-above:

n={a,b,c,d,e,f,g}
S s

e math: more sum-symbols :
N N NN NN

N N N N N
Heq) [THUNLUVADKRO
1=0 =0 ¢=07=041=07=07=01¢=0 7=0 =0 =0 1

o . N N N N N N N N N N N N
e math: more sum-symbols, no-limits : Hzq Zi:O Hi:O Hi:O Ui:O ﬂz':o I_li:O \/i:O /\i:O @i:o ®i:0 @i:O Lﬂz‘:o

e math: integrals: no-limits:

Ha:q/olf(a:) dz //Olf(x) dz //Olf(x) dz yglf(a:) dz /mf(m) dz
/lf dx//f dx//f dxﬁﬁf d;v/f
0

* =

0

—  limits:

11



e math: frac test:

e sfrac: Hxq %o — Huxqs 1/2 2+1; Lopip Loyl
2

e brace+sub/superscript: {#rsi{r123)(p{23)

g a
a b2
1 1/
2+%/2 e/
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